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BASED ON N.C.E.R.T PATTERN
CH -4 ( SUBTRACTION )
WORD PROBLEMS
See Example carefully and solve these questions
( ACCORDING TO EXAMPLE )
EXAMPLE : Out of 93 balloons in a party hall,
55 are red balloons and the rest of them
Green balloons. Find the numbers of green
Balloons.
Solution : Total number of balloons = 93
Number of red balloons = 55
Therefore , number of green balloons =93 - 55
38 balloons.

Answer : There are 38 green balloons.



PRACTICE SHEET

1.There are 97 deer in a forest . Only 49 of
Them have horns . How many deer do not
Have horns ?

2.0ut of 82 fruits in a fruit stall , 64 are Jack
Fruits and rest of them are musk melons.
How many muskmelons are there ?

3.0ut of 43 students in a class, 19 are boys .
Find number of girls in the class ?

4.There are 983 tress in an orchard . 563 are
Mango trees and the rest are guava trees.
Find the number of guava trees.

5.Sita and Gita scored 342 and 784 Marks
Respectively. How many more marks did
Gita get than Sita ?






